£100@
[V T NI T )V AKR=E

A B : SH7TE6818H\)
- = NP R —Y/\N\—DF—2—h
2 " (RBEEeE28BC) FHFZUR)
x E  BRIRT_IAHE
TE-BE : 1837
[ K & & 8]
X 2 2 E @A W F
K28 &E B K &3
& E K ZFT R M sk
B8 £ 8 E B B R =
L 72— W R Bz
ALT')— INB BE N

(R B8]

COXRSEERB —Ansh—FAVMESREICE DWW TRHRESNEZ A, EZELRMIEB
W-BEETENET.
1THEOZNBLURESHEBOI—I
SKEE. A SHBFEREDIEEZT> T J8EFE0aacRNEgs T J-)L
REI—PCANDEDERL TSN TFERENRESNDEEHITIDT.
PFH /2R EBRICGEEL T T ENIREREICENL A EREF. XdTO -
BEICI—MCABLED DEBFEEESR T ETBHNET.
2. BEBETCSBAHNESELTEIBI T FaL eI -/ —MIASZWEEE
el A VIR N A = I
3. =LYy IEN - eEELTI . ERG I I I ELTET.
4. SR TR B L DDEFLBBICHSC R IV ERS UFRABER —IVERFL TTFE.
5. 8TV EZBHAAL F 1/ O — B0 AIC T — L&EFRBL TS0
B.RADIBSOESHES 080-1364-0278 (K ESEEEB)



BFANR T IR 89 — L,V F 8-851TL—7

1TER B (NATR=ILTC) — ——— T ER (R B K Z)
— —{  9:40
2 b y e _ 18 [ BE(HZ—-TSs8)
1100 F— —
SERE @Y7 U =) — W ET RBE(STEVE)
9:00 f— {940
4 ¥ #a N o KK)y——- ———— 20 B KW (B B K %)
5 /v 1] B (TS —L)— —21©h Il BE (R B K F)
9:00  f— —  9:40
6B BFE (R B X ¥)— ————— 2S5 @B KB (MID PLUS)
1100 — L 1100
Tb ¥ e —_— — 23 b Y e
s D MEB (B B #® 7)—— ——24 0B QA8 (H T U 2)
9 ik B (- —TS8)— —— 2 {FE ERIT(LTCOR)
10 b y e e —26 b y e
1100 F— — 1100
N\ EER R X %) — —— 2B % BE (05UFr02)
9:00 f— {940
zEE 8z U —)—-Td ————28 A IR (B WMTC)
VWEB BF (B W L ¥)— — 298 F FE (R W K Z)
9:00  f— —{  9:40
4 EHTE E5L(F T ¢©)—— ———30 lJ 1R BE(S 3 8 #)
| L 1100
B B (d o M e)— — 31 b y e
9:40 _—
w0 E ME(B W X 8)— ——32HO Bi (B W R 7)
Y-k LUENBR 2.06EfR IhEASE 4BRGE S5.PEET 6PEREZE TULIE SAM)IEH



- . 1~3E% 85 —AVyF 8-891TL—2
BFBHRI VTV SRBE 6T —ARYTF 6-6591TL—2

1 =58 3290 (8 B 8] 7)) 22 fB)l ZE&E (d o M e)

10:20
2R K (B B K % )—

2 'R BBRX(STEVE)
A

9:00
3iE FSE(F T C)— — ——x BRIl EA(d o M e)
4 53 WA ( Rf;dHOtCh”' ) ———— 2o BT & (HYFvIYV)
eppers
940 9:00
5P FEN(Y-—-Ts )— 7 DIEE KRS (B ®F)
— 10:20
6 LK BER (#@KR—FTC) BN FE (D U —)
10:20 —
7 2B AR (B B K F)— 2 BT R (B WK %)
9:00 10:20
SME EB®#H (2 U - )— o K BE (2 U —)
— 9:00
oifik BHE (R B 7 H)— — ——= U8B BT (d o M e)
9:00 —
oXHB F— (smmo—yTC ) — —= (P EBE ( BREBEXF)
10:20 |— — 940
"/l MR U =) — = ZR BB (MWt TC)
2B EFEH(E A EFEF)— — 3 3 FERB(F T C)
10:20 |— — 10:20
BRE BX(2 U —)— = AXI (2 U =)
9:00 — L 9:00
7 \BRE—B ( HyFe /Y ) — — s B B8 (2 A FEF)
BsRB HTHh (B W K% )— SN ER ((BREBEKE)
940 [— 9:00
e BRE AN (/BB KR)— = fBE Efc (8 W KX %)
— 10:20
TWE BWM(B8 W K %¥)— o U S (BKR-FTC)
10:20 —
18 g B SE(Hh T U R )—— o AR E ( drop¥rshot )
9:00 — 10:20
ofEiE MR (d o M e )— s« A TEKXK (B W X %)
— 9:00
0 8 0 Bl (W k& i’)— — 2 K BE ( BRIBEXRS )
9:00
280 HME(STEVE ) — —— < B[R HIE (8 m K %)
10:20 — 940
“ =k BE® (H T

21 )N M (Vivace ) G

Y—-R 1=LRI 2FFHEF ISTROEB 4BHPEHR S50IFR 65 FE TMIIEE S\EIIMZ OFAKRER



%%0%&97’7‘%2 87— LNvF 8-8KH1L—7

MY REE(I>E-— L) —— 3= oA(E B 8| T
—1 10:20

11:00 s BHEIN 52027 1 =)
11:40

H B ZE(BR-FTC) bEE 8% (d o M e)

BFoomIA LTIV 85— L\VwF 8-851TL—7

Wl Sk s @ T)— ——————5F @ Wk T C)
11:00

N 6N EM(T-nuts)

19:20

I RiS(7 1) —)— ——— 7K BB (2 U =)
11:00 1:00

T B—(7 J @ —)— 5 & B (Y L T ¢

-k UBERE 258 F

\ ~ =~ Y

BF6bmA LT )L 85— L\WvF 8-8591FL—7

Bs H BIBB (U —FTC) I ==INES Bs (k3 271 —)
9:40 9:40

EHB BE (L -—Fv ) 108 7 = (o0>vx¥pO2R)

Xi¥B —EK(KF - 1 E (- — Ts)
9:40 9:40

EalES T (2 U =) 2B A ZHITE—H— )

EO BfE (LoveAlLL) BIUE B (R I )
8:40 10:20

=] EOR (K F 2= vl E Z8] (N il C)

= B B(Jz79xT) BAB BExE(s372357)
8:40 10:20

XE& IERER (k35 271U —) 16 H R T ( ARFuNGAS )

J—F  LEHEER 2HEREIrrm 3EE B 4XRIERES



— 2591 T — Tk (6-65-1TL—T5° 71— 25)
UFAN TR TP F A O ST 1 T2

AMT:00BREFE

TERN ER(S ) | 2

]}

BRI (BR—-kTC)

Q?FB:‘I'&S/V’)“)DZ 8T — LNV F 8857 —7
1B EF(/—LuykT) 4880 BF(Z U =)
11240

23 EE (s TEVE)

1:00

10:20

3 BB THE (B B K %) EIEE O BF(O o« — B

=P 1TRBESF 2/fBBS



